Priloha ¢. 1

Tabulky sloZeni vychozich roztoki

Tabulka 1
Prepocty slozeni roztoku
Roztok J9
objem [ hmotn. [suSina| pocet [ voda |kyselin|slozka| MV [ obsah | hustota | obsah | obsah
ml g g mold | mold | mold g/g |g.cm-3| g/ml | mol/ml
(C2H50)4Si 77| 71,841 20,72 |0,3448 Si02 |60,084]0,2884 [ 0,933 0,2691 [ 0,0045
EtOH 40,86 | 33,097 0,6897 IPA 46,07 10,9600 | 0,810]0,7776|0,0169
0,0735 H20 [18,015[0,0400| 0,810]0,0324 | 0,0018
HCI 36 % 0,3 0,354 0,0035 | HCI 36,461 0,3600 [ 1,179 0,4244 | 0,0116
0,0126 H20 [18,015[0,6400| 1,179]0,7546|0,0419
HCI2 M 0 0,000 0[HCI 36,461 0,0706 [ 1,033 0,0729 | 0,0020
0 H20 [18,015[0,9294| 1,033 ]0,9601 | 0,0533
voda 10,87 | 10,870 0,6034 H20 [18,015]1,0000| 1,000 | 1,0000 | 0,0555
soucet 129,03 | 116,161 | 20,72 | 1,0345| 0,6894 | 0,0035
g susiny/100 g roztoku 17,84 mol. pomér IPA/ SiO2 2,000
I I I
g suSiny/100 ml roztoku 16,06 mol. pomér kys/ SiO2 0,0101
I
k = 1,999
Tabulka 2
Roztok J10
objem [ hmotn. [ suSina | pocet | voda |kyselin|slozka| MV [ obsah | hustota [ obsah | obsah
ml g g moll | molu [ mold glg g.cm-3 | g/ml | mol/ml
(C2H50)4Si 150 | 139,950 | 40,363 | 0,6718 Si02 60,084 |0,2884 | 0,933 |0,2691 [ 0,0045
izoC3H70H 75,4 59,189 0,984 IPA 60,09 (0,9990| 0,785|0,7842]0,0131
0,0033 H20 [18,015]0,0010| 0,785 0,0008 | 0,0000
HCI 36 % 0,6 0,707 0,007 [ HCI 36,461]0,3600 | 1,179]0,4244 | 0,0116
0,0251 H20 [18,015]0,6400| 1,179]0,7546 | 0,0419
HCI2 M 0 0,000 0 [HCI 36,461 10,0706 | 1,033 0,0729 | 0,0020
0 H20 [18,015]0,9294 | 1,033]0,9601 | 0,0533
voda 24| 24,000 1,3322 H20 [18,015]1,0000| 1,000 | 1,0000 | 0,0555
soucet 250 [ 223,846 | 40,363 | 1,6558 | 1,3606 [ 0,007
g susiny/100 g roztoku 18,03 mol. pomér IPA/ SiO2 1,465
I I
g susiny/100 ml roztoku 16,15 mol. pomér kys/ SiO2 0,0104
I
k = 2,025
Tabulka 3
Roztok J11
objem [ hmotn. [ suSina | poCet | voda |kyselin|slozka| MV [ obsah | hustota | obsah | obsah
ml g g moll | molu [ mold glg g.cm-3 | g/ml | mol/ml
(C2H50)4Si 124,51 116,159 | 33,501 | 0,5576 Si02 60,084 |0,2884 | 0,933 0,2691 [ 0,0045
izoC3H70H 105 | 82,425 1,3703 IPA 60,09 (0,9990| 0,785|0,7842]0,0131
0,0046 H20 [18,015]0,0010| 0,785 0,0008 | 0,0000
HCI 36 % 0,5 0,590 0,0058 | HCI 36,461]0,3600 | 1,179]0,4244 | 0,0116
0,0209 H20 [18,015]0,6400| 1,179]0,7546 | 0,0419
HCI2 M 0 0,000 0 [HCI 36,461 10,0706 | 1,033 ]0,0729 | 0,0020
0 H20 [18,015]0,9294 | 1,033 0,9601 | 0,0533
voda 20| 20,000 1,1102 H20 [18,015]1,0000| 1,000 | 1,0000 | 0,0555
soucet 250 | 219,173 | 33,501 [ 1,9279 | 1,1357 | 0,0058
g susiny/100 g roztoku 15,29 mol. pomér IPA/ SiO2 2,458
I I
g susiny/100 ml roztoku 13,40 mol. pomér kys/ SiO2 0,0104
I
k = 2,037




Tabulka 4

Roztok J 18 Si02 | (ekvivalent J11)
objem [ hmotn. | suSina | poCet | voda |kyselin|slozka| MV obsah | hustota | obsah | obsah
ml g g mold | mold | mold g/g |g.cm-3| g/ml [ mol/ml
(C2H50)4Si 498 [ 464,634 | 134,01 | 2,2303 Si02 [60,084]0,2884 [ 0,933 0,2691 [ 0,0045
izoC3H70H 420 | 329,700 5,4813 IPA 60,09 (0,9990| 0,785(0,7842]0,0131
0,0183 H20 [18,015[0,0010| 0,785 ]0,0008 | 0,0000
HCI 36 % 2 2,358 0,0233 | HCI 36,461 0,3600 [ 1,179 0,4244 | 0,0116
0,0838 H20 [18,015[0,6400| 1,179]0,7546|0,0419
HCI2 M 0 0,000 0 [HCI 36,461 0,0706 [ 1,033 0,0729 | 0,0020
0 H20 [18,015[0,9294| 1,033 |0,9601 | 0,0533
voda 80| 80,000 4,4407 H20 [18,015]1,0000| 1,000 |1,0000 | 0,0555
soucet 1000 | 876,692 | 134,01 7,7116 | 4,5428 | 0,0233
g susiny/100 g roztoku 15,29 mol. pomér IPA/ SiO2 2,458
I I
g susiny/100 ml roztoku 13,40 mol. pomér kys/ SiO2 0,0104
I
k = 2,037
Tabulka 5
Roztok J12 10 % Ag + 90 % SiO2
objem [ hmotn. | suSina | pocet | voda |[kyselin | slozka MV obsah | hustota | obsah | obsah
ml g g moll | mold [ mold g/g |g.cm-3| g/ml | mol/ml
(C2H50)4Si 22 120,526 | 5,91990 | 0,0985 SiO2 [60,0843 (0,2884 | 0,933 [ 0,2691 | 0,0045
izoC3H70H 23] 18,055 0,3002 IPA 60,09 (0,9990| 0,785(0,7842]0,0131
0,0010 H20 [ 18,0152 |0,0010| 0,785 0,0008 | 0,0000
HNO3 65 % 05| 0,695 0,0072 | HNO3 63,01 {0,6500| 1,390 [ 0,9035|0,0143
0,0135 H20 [ 18,0152 0,3500| 1,390 0,4865 [ 0,0270
acetylaceton 0| 0,000 0 acac | 100,117 ]1,0000( 0,972]0,9720 | 0,0097
AgNO3 1,036 | 1,036 [ 0,65786 | 0,0061 Ag | 107,868 | 0,6350 1 0,6350 | 0,0059
voda 3,50 | 3,500 0,1943 H20 [ 18,0152 | 1,0000 | 1,000 | 1,0000 | 0,0555
soucet 50,036 | 43,812 | 6,57776 0,2088 | 0,0072
g susiny/100 g roztoku 15,01 mol. pomér IPA/ SiO2 3,047
I I I I
g susiny/100 ml roztoku 13,15 mol. pomér kys/ SiO2 0,0728
I I
k= 2,119 (jen Si) mol. pomér acac/SiO2 0,000
Tabulka 6
Roztok J15 5 % Ag + 95 % SiO2
objem | hmotn. | suSina | poCet | voda | kyselin [ slozka MV obsah | hustota | obsah | obsah
ml g g moll | molt | mold glg |g.cm-3| g/ml [ mol/ml
(C2H50)4Si 92,8 | 86,582 | 24,9712|0,4156 SiO2 | 60,0843 |0,2884 | 0,933 | 0,2691 | 0,0045
izoC3H70H 85,2 | 66,882 1,1119 IPA 60,09 [(0,9990| 0,785(0,7842]0,0131
0,0037 H20 (18,0152 (0,0010| 0,785 [ 0,0008 | 0,0000
HNO3 65 % 6 8,340 0,086 [ HNO3 63,01 [0,6500 | 1,390 [ 0,9035 | 0,0143
0,162 H20 (18,0152 (0,3500| 1,390 [ 0,4865 | 0,0270
acetylaceton 0 0,000 0 acac [100,117 {1,0000| 0,972 (0,9720 | 0,0097
AgNO3 2,072 2,072 | 1,31572]0,0122 Ag [107,868 | 0,6350 1 0,6350 | 0,0059
voda 14,0 [ 14,000 0,7771 H20 [ 18,0152 (1,0000| 1,000 [ 1,0000 | 0,0555
soucet 200,072 [ 177,876 | 26,28695 0,9429 | 0,086
g susiny/100 g roztoku 14,78 mol. pomér IPA/ SiO2 2,675
I I
g susiny/100 ml roztoku 13,14 mol. pomér kys/ SiO2 0,2070
I I I I
k= 2,269 (jen Si) mol. pomér acac/SiO2 0,000




Tabulka 7

Roztok J19 1% Ag + 99 % SiO2
objem | hmotn. suSina pocet | voda | kyselin | slozka MV obsah | hustota | obsah | obsah
ml g g mold | mold | moll g/g |g.cm-3| g/ml [ mol/ml
(C2H50)4Si 249 (232,317 | 67,0025 [ 1,1151 SiO2 | 60,0843 (10,2884 | 0,933 |0,2691 | 0,0045
izoC3H70H 203 [ 159,355 2,6493 IPA 60,09 (0,9990| 0,785(0,7842]0,0131
0,0088 H20 (18,0152 (0,0010| 0,785 [ 0,0008 | 0,0000
HNO3 65 % 10| 13,900 0,1434 | HNO3 63,01 [0,6500 | 1,390 [ 0,9035 | 0,0143
0,27 H20 [ 18,0152 (0,3500| 1,390 [ 0,4865 | 0,0270
acetylaceton 0 0,000 0 acac [100,117 [ 1,0000| 0,972 (0,9720 | 0,0097
AgNO3 1,0658 1,066 | 0,67678 | 0,0063 Ag [107,868 | 0,6350 1 0,6350 | 0,0059
voda 37,0] 37,000 2,0538 H20 [ 18,0152 (1,0000| 1,000 [ 1,0000 | 0,0555
soucet 500,066 | 443,638 | 67,67933 2,3327 10,1434
g susiny/100 g roztoku 15,26 mol. pomér IPA/ SiO2 2,376
I I
g susiny/100 ml roztoku 13,563 mol. pomér kys/ SiO2 0,1286
I I
k= 2,092 (jen Si) mol. pomér acac/SiO2 0,000
Tabulka 8
Roztok J1
objem [ hmotn. | suSina | poCet [ voda | kyselin|slozka| MV obsah | hustota | obsah | obsah
ml g g mold | mold | moll g/g |g.cm-3| g/ml [ mol/ml
(C2H50)4Si 50 | 46,650 | 13,454 | 0,2239 Si02 [60,084]0,2884 [ 0,933 0,2691 [ 0,0045
izoC3H70H 30 | 23,550 0,3915 IPA 60,09 (0,9990| 0,785(0,7842]0,0131
0,0013 H20 [18,015[0,0010| 0,785 ]0,0008 | 0,0000
HCI 36 % 0,2| 0,236 0,0023 | HCI 36,461 0,3600 [ 1,179 0,4244 [ 0,0116
0,0084 H20 [18,015[0,6400| 1,179]0,7546|0,0419
HCI2 M 0[ 0,000 0 [HCI 36,461 0,0706 [ 1,033 0,0729 | 0,0020
0 H20 [18,015[0,9294| 1,033 ]0,9601 | 0,0533
voda 12 12,000 0,6661 H20 [18,015[1,0000| 1,000 |1,0000 | 0,0555
soucet 92,2 | 82,436 | 13,454 | 0,6154 | 0,6758 | 0,0023
g susiny/100 g roztoku 16,32 mol. pomér IPA/ SiO2 1,748
I I I I
g suSiny/100 ml roztoku 14,59 mol. pomeér kys/ SiO2 0,0104
I
k = 3,018
Tabulka 9
Roztok J2
objem [ hmotn. | suSina | po€et | voda | kyselin [ slozka| MV | obsah [ hustota | obsah | obsah
ml g g moll | mold | moll glg |g.cm-3| g/ml [ mol/ml
(C2H50)4Si 50 | 46,650 | 13,454 | 0,2239 Si02 |60,084)0,2884 [ 0,933 0,2691 [ 0,0045
izoC3H70H 20,7 | 16,250 0,2701 IPA 60,09 (0,9990| 0,785(0,7842]0,0131
0,0009 H20 [18,015[0,0010| 0,785 ]0,0008 | 0,0000
HCI 36 % 0,2| 0,236 0,0023 | HCI 36,461 0,3600 [ 1,179 0,4244 | 0,0116
0,0084 H20 [18,015[0,6400| 1,179]0,7546|0,0419
HCI2 M 0[ 0,000 0 [HCI 36,461 0,0706 [ 1,033 0,0729 | 0,0020
0 H20 [18,015[0,9294| 1,033 0,9601 | 0,0533
voda 15 15,000 0,8326 H20 [18,015]1,0000| 1,000 |1,0000 |0,0555
soucet 85,978,135 [ 13,454 | 0,4941 | 0,8419 | 0,0023
g susiny/100 g roztoku 17,22 mol. pomér IPA/ SiO2 1,206
I I
g susiny/100 ml roztoku 15,66 mol. pomeér kys/ SiO2 0,0104
I
k = 3,760




